Vaggeryds BK
Partavling 2021-11-22

Partavling, 5 bord, 10 par. Antal brickor: 27. Medel: 108.0.

Plac Par Poang % Namn MID Klubb

1 1 127.0 58.81  Bengt-Olof Magnusson - Ingvar Arkenstrém 17694 25312 Vaggeryds BK

2 5 121.6 56.29  Frank Persson - Ake Hessel 12688 57802 Vaggeryds BK

3 7 118.2 54.71  Torbjorn Lindberg - Sture Bjork 17695 66415 Vaggeryds BK

4 6 108.7 50.31 Kajsa Lofstrom-Eriksson - Olof Eriksson 80414 25332 Vaggeryds BK

5 2 107.8 49.89  Yvonne J:son Melander - Birgit Danielsson 55581 12401 Vaggeryds BK

6 9 104.9 48.57  Ronny Randow - Leif Haegerstam 89642 6871  Vaggeryds BK

7 3 100.7 46.60  Kurt Andersson - Karl-Erik Paulsson 6878 12617 Vaggeryds BK

8 4 100.5 46.55 Mona Nilsson - Per-Owe Nilsson 56108 56107 BK Opalen

9 8 100.3 46.44  Krister Sjostrom - Bo Ekstrém 15771 7718  Eksjo BK - Vaggeryds BK

10 10 90.3 41.83  Arne Englund - Thorbjérn Andersson 60173 57876 Vaggeryds BK
1 Nord Ingen 2 Ost NS 3 Syd OV

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

52 44 0-3 *8 150 80 00| 52 INV+1 *3 -120 8.0 00| 52 4v N= *A 420 7.0 1.0

98 44 V-1 *4 50 6.0 20( 10 1 14 O+2 v9 -140 6.0 20| 7 3 4vy N= *A 420 70 1.0

4 6 44 V= »5 -420 4.0 40| 4 6 INN-2 2 200 2.0 6.0 9 8 3v N+1 *A 170 40 4.0

7 3 3NV+1 v8 -430 2.0 60| 7 3 24S-2 aT 200 2.0 60| 46 1lv N+1 *A 110 20 6.0
10 1 3NV +2 #3 -460 0.0 80| 9 8 INS-2 oT 2000 2.0 6.0 10 1 5vN-1 *A -50 0.0 8.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

8 4 7¢ S= *J 2140 80 00| 84 2¢0-1 46 50 80 00| 19 54V-1 a4 100 6.0 2.0

19 64 N+1 &K 1460 6.0 20 1 9 2NN-1 +6 -100 4.0 40| 57 3NO-1 a4 100 6.0 2.0

57 3NS+4 &4 720 40 40| 57 3vN-1 »6 -100 4.0 40| 8 4 3NV-1 +*J 100 6.0 2.0
10 2 5¢ N+1 *2 620 20 60| 6 3 2vS-1 +6 -100 4.0 40| 6 3 3NV= v3 -600 1.0 7.0

6 3 64 N-1 &K -100 0.0 80| 10 2 3NN-2 +Q -200 0.0 80| 10 2 3NV= a4 -600 1.0 7.0
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

6 8 3#0-1 +J 100 70 10| 7 4 3NN+2 &T 460 80 00| 7 4 240-2 *A 200 8.0 0.0

95 3NO-1 v2 100 70 1.0 6 8 3NN+1 &T 430 40 40| 21 440-1 s A 100 5.0 3.0

7 4 Pass 40 40| 95 3NN+1 &T 430 40 40| 68 2¢ O-1 &K 100 5.0 3.0
10 3 34 0+= s A -110 2.0 6.0 10 3 3NN+1 43 430 40 40| 95 24 O+1 &K -110 2.0 6.0

21 3+0+1 *J -130 0.0 80| 21 6vS-3 +4 -150 0.0 8.0 10 3 24 O+1 vK -140 0.0 8.0
10 Ost Alla 11 Syd Ingen 12 Vast NS

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

8 5 3NN+1 a2 630 80 00| 32 2NN= v3 120 70 10| 79 2vS= s A 110 8.0 0.0

32 2¢ S+2 a4 130 50 3.0 85 2NS= v4 120 70 1.0 16 44 0-2 +Q 100 6.0 2.0

79 3¢ S+l a4 130 50 3.0 16 3NS-1 v3 50 3.0 50| 32 4eV-1 *2 50 3.0 50
10 4 3¢ S= a4 110 20 6.0 10 4 2NN-1 *2 -50 3.0 50| 85 44 0-1 vQ 50 3.0 50

16 3NN-2 v3 -200 0.0 80| 7 9 44 S-2 &T -100 0.0 80| 10 4 INV+2 2 -150 0.0 8.0
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

96 24 N= vA 110 80 00| 96 3NS+1 +5 430 80 00| 27 2NV-3 40 150 8.0 0.0

4 3 34S-1 +8 -100 5.0 3.0| 105 2v N= +*J 110 6.0 20| 4 3 24 S+l oT 140 5.0 3.0
10 5 24 S-1 +3 -100 50 3.0| 4 3 140-1 vT 50 40 40| 9 6 24 S+1 .7 140 5.0 3.0

27 1e O+2 &K -110 1.0 70| 2 7 2vN-1 *5 50 1.0 7.0| 8 1 24 S= v6 110 20 6.0

81 3¢0= &K -110 1.0 70| 8 1 2NN-1 a2 -50 1.0 70| 105 2vO+1 *A -140 0.0 8.0
16 Vast OV 17 Nord Ingen 18 Ost NS

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

38 4a4V-1 v7 100 50 3.0 17 460-1 v9 50 8.0 0.0 3 8 3yDN+2 48 1130 8.0 0.0

54 3NV-1 v7 100 50 30| 54 3¢ 0= v9 -110 5.0 3.0 17 5¢vN= *8 650 6.0 2.0

9 2 3NV-1 a2 100 50 3.0 92 3¢ 0= v9 -110 5.0 3.0| 10 6 5¢DV-3 vA 500 40 4.0
10 6 3NV - a2 100 50 3.0 3 8 3vyN-3 *A -150 2.0 60| 5 4 34 S= *7 140 20 6.0

17 44 0= *7 -620 0.0 8.0 10 6 3NV +1 vA -430 0.0 80| 9 2 5¢V-2 vA 100 0.0 8.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
10 7 44 V-2 v7 200 8.0 00| 49 3¢ N+2 *A 150 80 00| 13 24N= vK 110 8.0 0.0

6 5 64 V-1 v7 100 6.0 20| 13 3v0-1 s A 100 50 30| 28 INO+1 *4 -120 4.0 4.0

13 4eV+1 vQ -650 2.0 60| 28 3v0O-1 a K 100 50 30| 49 INO+1 v8 -120 4.0 4.0

2 8 44 V+l v2 -650 2.0 60| 65 2v 0= s K -110 1.0 7.0( 10 7 INO+1 v8 -120 4.0 4.0

4 9 44 V+1 &T -650 2.0 6.0| 10 7 2v O= s A -110 1.0 70| 6 5 INS-2 *8 -200 0.0 8.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

51 3v0-2 *K 200 80 00| 51 1a S+2 + K 140 80 00| 24 4vyN= *Q 420 8.0 0.0

2 4 24 N-1 vA 50 50 30| 24 24S-1 vA -100 5.0 3.0 7 6 2v N+2 *Q 170 6.0 2.0
10 8 24 S-1 &T -50 5.0 30| 76 INS-1 ] -100 5.0 3.0| 10 8 3v S= a7 140 40 4.0

39 34S5-2 v4 -100 2.0 60| 3 9 14S-2 a2 2000 1.0 70| 3 9 INN= *Q 90 20 6.0

7 6 4NS-3 *A -150 0.0 8.0 10 8 24 S-2 vA 200 1.0 70| 51 6NN-4 *Q -200 0.0 8.0
25 Nord OV 26 Ost Alla 27 Syd Ingen

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

41 6v0-1 ¢A 100 8.0 0.0 10 9 34 V+2 *A 200 8.0 00| 8 7 6NN= ¢A 990 8.0 0.0

35 4v0+1 *8 -650 3.0 50| 8 7 44 V= *A -620 6.0 20| 4 1 3NN+3 *T 490 40 4.0

6 2 4v O+1 ¢A -650 3.0 50| 3 5 44 V+1l ¢A -650 2.0 6.0 6 2 3NN+3 2 490 40 4.0

8 7 4v O +1 ¢A -650 3.0 50| 41 44 0+1 ¢A -650 2.0 6.0 10 9 3NN +3 43 490 40 4.0
10 9 4v O +1 *8 -650 3.0 50| 6 2 44 O+1 *J -650 2.0 60| 3 5 6#N-1 *A -50 0.0 8.0
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